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https://www.100test.com/kao_ti2020/295/2021_2022_TOEIC_E4_B

9_8B_E5_95_c67_295077.htm The workers were glad to hear that

their new pay increases were retroactive to the beginning of the

previous month. (Hint: Why would the timing of a pay increase

make workers happy?)请判断：以下陈述是true or

false1.True/False?The pay increase would not begin for two months.

2.True/False?The workers would receive additional pay for work

they had already been paid for. 答案：1.F 2.T 100Test 下载频道开

通，各类考试题目直接下载。详细请访问 www.100test.com 


